ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024064

TRA	ACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 YU Y	UM T045501C	YUM-0-(227)T	103626	YUMA	SOUTHWEST	0		Mowery-Racz Thomas

Highway Termini	Location	Work Description
-----------------	----------	------------------

[•] CITY OF YUMA

[•] Pedestrian Hybrid Beacons 3 Lo

[•]System Enhancement (Safety Improvements)

Printed: 9/23/2025 Page 1 of 9

BID RESULTS FOR 2024064

Bid Opening Date: 8/8/2025, Prequalification Required, Engineer Specialist: Mowery-Racz Thomas

Completion Date:

226 Working Days

The proposed project is located in the City of Yuma within Yuma County. The proposed work is located at Avenue C & Central Drain (north of 22nd Lane) and 32nd Street & Michigan Avenue. The work consists of the installation of pedestrian hybrid beacon equipment, miscellaneous concrete, and other related work.

Bid Rank	Compared To Department Estimat Option #	Bid Amount	Contractor	Extended Sum of Items
	+%	\$973,221.20	DEPARTMENT ESTIMATE	\$973,221.20
1	-21.3%	\$766,000.00	DPE CONSTRUCTION, INC. 1636 E 20TH STREET YUMA, AZ 85365-	\$766,000.00
2	-5.4%	\$921,074.90	AJP ELECTRIC, INC. 1920 W. CHERYL DRIVE PHOENIX, AZ 85021-	\$921,074.90

Winning Bidder is 21.3% Under Department Estimate (Difference = (\$207,221.20))

Printed: 9/23/2025 Page 2 of 9 *** Bid Tabs for Proposal Pamphlet 2024064 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020020	L.FT.	REMOVAL OF CONCRETE CURB				
Bid Rank	Department	t Estimate	70.000	\$85.000	\$5,950.00	
1	DPE CONS	STRUCTION, INC.		\$60.000	\$4,200.00	-29.4%
2	AJP ELECT	TRIC, INC.		\$35.000	\$2,450.00	-58.8%
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEW	ALKS, DRIVEWAYS AN	D SLABS		
Bid Rank	Department	t Estimate	804.000	\$8.000	\$6,432.00	
1	DPE CONS	STRUCTION, INC.		\$10.000	\$8,040.00	+25.0%
2	AJP ELECT	TRIC, INC.		\$8.000	\$6,432.00	+0.0%
2020029	SQ.YD.	REMOVAL OF ASPHALTIC CONCR	ETE PAVEMENT			
Bid Rank	Department	t Estimate	44.000	\$40.000	\$1,760.00	
1	DPE CONS	TRUCTION, INC.		\$50.000	\$2,200.00	+25.0%
2	AJP ELECT	TRIC, INC.		\$30.000	\$1,320.00	-25.0%
3030002	TON	AGGREGATE BASE, CLASS 2				
Bid Rank	Department	t Estimate	6.000	\$500.000	\$3,000.00	
1	DPE CONS	TRUCTION, INC.		\$375.000	\$2,250.00	-25.0%
2	AJP ELECT	TRIC, INC.		\$200.000	\$1,200.00	-60.0%
4090003	TON	ASPHALTIC CONCRETE (MISCELL	ANEOUS STRUCTURA	NL)		
Bid Rank	Department	t Estimate	3.000	\$1,250.000	\$3,750.00	
1	DPE CONS	STRUCTION, INC.		\$1,150.000	\$3,450.00	-8.0%
2	AJP ELECT	TRIC, INC.		\$2,200.000	\$6,600.00	+76.0%
6070038	EACH	SLIP BASE				
Bid Rank	Department	t Estimate	4.000	\$400.000	\$1,600.00	
1	DPE CONS	STRUCTION, INC.		\$500.000	\$2,000.00	+25.0%
2	AJP ELECT	TRIC, INC.		\$225.000	\$900.00	-43.8%
6070048	EACH	FOUNDATION FOR SQUARE TUBE	POST			
Bid Rank	Department	t Estimate	4.000	\$300.000	\$1,200.00	
1	DPE CONS	STRUCTION, INC.		\$425.000	\$1,700.00	+41.7%
2	AJP ELECT	TRIC, INC.		\$200.000	\$800.00	-33.3%
6070057	L.FT.	SIGN POST (PERFORATED) (2 1/2	T)			
Bid Rank	Department	t Estimate	52.000	\$30.000	\$1,560.00	
1	DPE CONS	STRUCTION, INC.		\$60.000	\$3,120.00	+100.0%
2	AJP ELECT	FRIC, INC.		\$40.000	\$2,080.00	+33.3%
6080005	SQ.FT.	REGULATORY, WARNING, OR MA	RKER SIGN PANEL			
Bid Rank	Department	t Estimate	36.000	\$60.000	\$2,160.00	
1	DPE CONS	STRUCTION, INC.		\$45.000	\$1,620.00	-25.0%
2	AJP ELECT	TRIC, INC.		\$100.000	\$3,600.00	+66.7%

Printed: 9/23/2025 Page 3 of 9 *** Bid Tabs for Proposal Pamphlet 2024064 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7015052	L.FT.	OBLITERATE PAVEMENT MA	RKING (STRIPE)			
Bid Rank	Department	t Estimate	1,405.000	\$2.000	\$2,810.00	
1	DPE CONS	STRUCTION, INC.		\$12.000	\$16,860.00	+500.0%
2	AJP ELECT	TRIC, INC.		\$0.750	\$1,053.75	-62.5%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2	2, VERT.PANEL, TUBULAR MA	ARKER)		
Bid Rank	Department	t Estimate	11,280.000	\$0.500	\$5,640.00	
1	DPE CONS	STRUCTION, INC.		\$0.600	\$6,768.00	+20.0%
2	AJP ELECT	TRIC, INC.		\$0.700	\$7,896.00	+40.0%
7016031	EACH-DAY	BARRICADE (TYPE 3, HIGH L	EVEL FLAG TREE)			
Bid Rank	Department	t Estimate	540.000	\$2.000	\$1,080.00	
1	DPE CONS	STRUCTION, INC.		\$1.000	\$540.00	-50.0%
2	AJP ELECT	TRIC, INC.		\$1.150	\$621.00	-42.5%
7016032	EACH-DAY	PORTABLE SIGN STAND (RIG	GID)			
Bid Rank	Department	t Estimate	600.000	\$1.000	\$600.00	
1	DPE CONS	STRUCTION, INC.		\$0.600	\$360.00	-40.0%
2	AJP ELECT	TRIC, INC.		\$0.700	\$420.00	-30.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SP	RING TYPE)			
Bid Rank	Department	t Estimate	2,856.000	\$1.000	\$2,856.00	
1	DPE CONS	STRUCTION, INC.		\$1.500	\$4,284.00	+50.0%
2	AJP ELECT	TRIC, INC.		\$1.800	\$5,140.80	+80.0%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department	t Estimate	2,914.000	\$0.350	\$1,019.90	
1	DPE CONS	STRUCTION, INC.		\$0.250	\$728.50	-28.6%
2	AJP ELECT	TRIC, INC.		\$0.300	\$874.20	-14.3%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department	t Estimate	9,648.000	\$0.350	\$3,376.80	
1	DPE CONS	STRUCTION, INC.		\$0.250	\$2,412.00	-28.6%
2	AJP ELECT	TRIC, INC.		\$0.300	\$2,894.40	-14.3%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUA	TOR			
Bid Rank	Department	t Estimate	14.000	\$700.000	\$9,800.00	
1	DPE CONS	STRUCTION, INC.		\$300.000	\$4,200.00	-57.1%
2	AJP ELECT	TRIC, INC.		\$250.000	\$3,500.00	-64.3%
7016051	EACH-DAY	TEMPORARY SIGN (LESS TH	IAN 10 S.F.)			
Bid Rank	Department	t Estimate	560.000	\$1.000	\$560.00	
1	DPE CONS	STRUCTION, INC.		\$1.000	\$560.00	+0.0%
2	AJP ELECT			\$0.850	\$476.00	-15.0%

Printed: 9/23/2025 Page 4 of 9 *** Bid Tabs for Proposal Pamphlet 2024064 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. 0	OR MORE)			
Bid Rank	Department	Estimate	2,504.000	\$1.500	\$3,756.00	
1	DPE CONS	TRUCTION, INC.		\$1.250	\$3,130.00	-16.7%
2	AJP ELECT	TRIC, INC.		\$1.000	\$2,504.00	-33.3%
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank	Department	Estimate	90.000	\$50.000	\$4,500.00	
1	DPE CONS	TRUCTION, INC.		\$30.000	\$2,700.00	-40.0%
2	AJP ELECT	TRIC, INC.		\$40.000	\$3,600.00	-20.0%
7016067	EACH-DAY	CHANGEABLE MESSAGE BO	DARD (CONTRACTOR FURN	ISHED)		
Bid Rank	Department	Estimate	408.000	\$55.000	\$22,440.00	
1	DPE CONS	TRUCTION, INC.		\$60.000	\$24,480.00	+9.1%
2	AJP ELECT	TRIC, INC.		\$30.000	\$12,240.00	-45.5%
7016075	HOUR	FLAGGING SERVICES (CIVIL	IAN)			
Bid Rank	Department	Estimate	240.000	\$60.000	\$14,400.00	
1	DPE CONS	TRUCTION, INC.		\$65.000	\$15,600.00	+8.3%
2	AJP ELECT	TRIC, INC.		\$70.000	\$16,800.00	+16.7%
7016081	HOUR	FLAGGING SERVICES (DPS))			
Bid Rank	Department	: Estimate	320.000	\$120.000	\$38,400.00	
1	DPE CONS	TRUCTION, INC.		\$100.000	\$32,000.00	-16.7%
2	AJP ELECT	TRIC, INC.		\$130.000	\$41,600.00	+8.3%
7040005	L.FT.	PAVEMENT MARKING (WHIT	E EXTRUDED THERMOPLAS	STIC) (0.090")		
Bid Rank	Department	Estimate	2,445.000	\$1.500	\$3,667.50	
1	DPE CONS	TRUCTION, INC.		\$2.000	\$4,890.00	+33.3%
2	AJP ELECT	TRIC, INC.		\$0.550	\$1,344.75	-63.3%
7060013	EACH	PAVEMENT MARKER, RAISE	D, TYPE C			
Bid Rank	Department	: Estimate	56.000	\$8.000	\$448.00	
1	DPE CONS	TRUCTION, INC.		\$250.000	\$14,000.00	+3025.0%
2	AJP ELECT	TRIC, INC.		\$5.000	\$280.00	-37.5%
7080201	L.FT.	WATERBORNE-TYPE I PAVE	MENT MARKING (PAINTED)	(WHITE)		
Bid Rank	Department	Estimate	2,240.000	\$1.000	\$2,240.00	
1	DPE CONS	TRUCTION, INC.		\$0.600	\$1,344.00	-40.0%
2	AJP ELECT			\$0.100	\$224.00	-90.0%
7310190	EACH	POLE (TYPE I) (COY STD DE	TIAL 9-050)			
Bid Rank	Department	Estimate	2.000	\$30,000.000	\$60,000.00	
1	DPE CONS	TRUCTION, INC.		\$30,250.000	\$60,500.00	+0.8%
2	AJP ELECT			\$24,725.000	\$49,450.00	-17.6%

Printed: 9/23/2025 Page 5 of 9 *** Bid Tabs for Proposal Pamphlet 2024064 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7310191	EACH	POLE (TYPE II) (COY STD DETA	AIL 9-060)			
Bid Rank	Department	Estimate	2.000	\$45,000.000	\$90,000.00	
1	DPE CONS	TRUCTION, INC.		\$33,000.000	\$66,000.00	-26.7%
2	AJP ELECT	RIC, INC.		\$28,400.000	\$56,800.00	-36.9%
7310195	EACH	POST (PEDESTRIAN PUSH BU	ΓΤΟΝ)			
Bid Rank	Department	Estimate	2.000	\$1,200.000	\$2,400.00	
1	DPE CONS	TRUCTION, INC.		\$1,700.000	\$3,400.00	+41.7%
2	AJP ELECT	RIC, INC.		\$1,200.000	\$2,400.00	+0.0%
7310371	EACH	POLE FOUNDATION (TYPE A-I)	(COY STD DETAIL 9-050)			
Bid Rank	Department	Estimate	1.000	\$6,000.000	\$6,000.00	
1	DPE CONS	TRUCTION, INC.		\$3,380.000	\$3,380.00	-43.7%
2	AJP ELECT	RIC, INC.		\$8,000.000	\$8,000.00	+33.3%
7310372	EACH	POLE FOUNDATION (TYPE A-2)	(COY STD DETAIL 9-050)			
Bid Rank	Department	Estimate	1.000	\$7,500.000	\$7,500.00	
1	DPE CONS	TRUCTION, INC.		\$3,872.000	\$3,872.00	-48.4%
2	AJP ELECT	RIC, INC.		\$14,000.000	\$14,000.00	+86.7%
7310373	EACH	POLE FOUNDATION (TYPE B-1)) (COY STD DETAIL 9-050)			
Bid Rank	Department	Estimate	1.000	\$9,000.000	\$9,000.00	
1	DPE CONS	TRUCTION, INC.		\$3,630.000	\$3,630.00	-59.7%
2	AJP ELECT	RIC, INC.		\$10,750.000	\$10,750.00	+19.4%
7310374	EACH	POLE FOUNDATION (TYPE B-2)	(COY STD DETIAL 9-050)			
Bid Rank	Department	Estimate	1.000	\$11,250.000	\$11,250.00	
1	DPE CONS	TRUCTION, INC.		\$4,120.000	\$4,120.00	-63.4%
2	AJP ELECT	RIC, INC.		\$22,000.000	\$22,000.00	+95.6%
7310390	EACH	PEDESTRIAN PUSH BUTTON P	OST FOUNDATION			
Bid Rank	Department	: Estimate	2.000	\$1,500.000	\$3,000.00	
1	DPE CONS	TRUCTION, INC.		\$605.000	\$1,210.00	-59.7%
2	AJP ELECT	RIC, INC.		\$850.000	\$1,700.00	-43.3%
7310500	EACH	MAST ARM (8 FT.) (TAPERED)				
Bid Rank	Department	Estimate	4.000	\$1,600.000	\$6,400.00	
1	DPE CONS	TRUCTION, INC.		\$1,900.000	\$7,600.00	+18.8%
2	AJP ELECT	RIC, INC.		\$920.000	\$3,680.00	-42.5%
7310580	EACH	MAST ARM (35 FT.) (STRAIGHT	OR TAPERED)			
Bid Rank	Department	Estimate	1.000	\$10,000.000	\$10,000.00	
1	DPE CONS	TRUCTION, INC.		\$8,600.000	\$8,600.00	-14.0%
2	AJP ELECT	RIC, INC.		\$9,900.000	\$9,900.00	-1.0%

Printed: 9/23/2025 Page 6 of 9 *** Bid Tabs for Proposal Pamphlet 2024064 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7310600	EACH	MAST ARM (45 FT.) (STRAIGHT OR TA	PERED)			
Bid Rank	Department	t Estimate	1.000	\$15,000.000	\$15,000.00	
1	DPE CONS	STRUCTION, INC.		\$10,400.000	\$10,400.00	-30.7%
2	AJP ELECT	TRIC, INC.		\$10,830.000	\$10,830.00	-27.8%
7310620	EACH	MAST ARM (55 FT.) (STRAIGHT OR TA	PERED)			
Bid Rank	Department	t Estimate	2.000	\$20,000.000	\$40,000.00	
1	DPE CONS	STRUCTION, INC.		\$21,000.000	\$42,000.00	+5.0%
2	AJP ELECT	TRIC, INC.		\$20,050.000	\$40,100.00	+0.3%
7320050	L.FT.	ELECTRICAL CONDUIT (2") (PVC)				
Bid Rank	Department	t Estimate	129.000	\$45.000	\$5,805.00	
1	DPE CONS	STRUCTION, INC.		\$30.000	\$3,870.00	-33.3%
2	AJP ELECT	TRIC, INC.		\$60.000	\$7,740.00	+33.3%
7320070	L.FT.	ELECTRICAL CONDUIT (3") (PVC)				
Bid Rank	Department	t Estimate	348.000	\$60.000	\$20,880.00	
1	DPE CONS	STRUCTION, INC.		\$135.000	\$46,980.00	+125.0%
2	AJP ELECT	TRIC, INC.		\$168.000	\$58,464.00	+180.0%
7320420	EACH	PULL BOX (NO. 7)				
Bid Rank	Department	t Estimate	2.000	\$2,000.000	\$4,000.00	
1	DPE CONS	STRUCTION, INC.		\$1,450.000	\$2,900.00	-27.5%
2	AJP ELECT	TRIC, INC.		\$1,300.000	\$2,600.00	-35.0%
7320421	EACH	PULL BOX (NO. 7) (WITH EXTENSION))			
Bid Rank	Department	t Estimate	2.000	\$2,500.000	\$5,000.00	
1	DPE CONS	STRUCTION, INC.		\$1,700.000	\$3,400.00	-32.0%
2	AJP ELECT	FRIC, INC.		\$1,600.000	\$3,200.00	-36.0%
7320650	L.SUM	CONDUCTORS				
Bid Rank	Department	t Estimate	1.000	\$50,000.000	\$50,000.00	
1	DPE CONS	STRUCTION, INC.		\$14,500.000	\$14,500.00	-71.0%
2	AJP ELECT	TRIC, INC.		\$42,000.000	\$42,000.00	-16.0%
7330138	EACH	TRAFFIC SIGNAL FACE (TYPE T)				
Bid Rank	Department	t Estimate	14.000	\$1,750.000	\$24,500.00	
1	DPE CONS	STRUCTION, INC.		\$1,475.000	\$20,650.00	-15.7%
2	AJP ELECT	TRIC, INC.		\$1,190.000	\$16,660.00	-32.0%
7330215	EACH	TRAFFIC SIGNAL FACE (PEDESTRIAN	N) (MAN/HAND) (CO	DUNTDOWN NUMER	ALS)	
Bid Rank	Department	t Estimate	4.000	\$850.000	\$3,400.00	
1	DPE CONS	STRUCTION, INC.		\$1,065.000	\$4,260.00	+25.3%
2	AJP ELECT			\$900.000	\$3,600.00	+5.9%

Printed: 9/23/2025 Page 7 of 9 *** Bid Tabs for Proposal Pamphlet 2024064 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7330221	EACH	PEDESTRIAN PUSH BUTTON (AUD	IBLE W/ SIGN)			
Bid Rank	Department	t Estimate	4.000	\$1,500.000	\$6,000.00	
1	DPE CONS	STRUCTION, INC.		\$950.000	\$3,800.00	-36.7%
2	AJP ELECT	TRIC, INC.		\$1,835.000	\$7,340.00	+22.3%
7330340	EACH	TRAFFIC SIGNAL MOUNTING ASSE	EMBLY (TYPE V)			
Bid Rank	Department	t Estimate	4.000	\$800.000	\$3,200.00	
1	DPE CONS	TRUCTION, INC.		\$1,400.000	\$5,600.00	+75.0%
2	AJP ELECT	TRIC, INC.		\$670.000	\$2,680.00	-16.3%
7330401	EACH	TRAFFIC SIGNAL MOUNTING ASSE	EMBLY (COY STD DET	ΓAIL 9-035)		
Bid Rank	Department	t Estimate	11.000	\$750.000	\$8,250.00	
1	DPE CONS	TRUCTION, INC.		\$1,200.000	\$13,200.00	+60.0%
2	AJP ELECT	TRIC, INC.		\$885.000	\$9,735.00	+18.0%
7330403	EACH	TRAFFIC SIGNAL MOUNTING ASSE	MBLY (COY STD DE	ΓAIL 9-045)		
Bid Rank	Department	t Estimate	3.000	\$750.000	\$2,250.00	
1	DPE CONS	STRUCTION, INC.		\$550.000	\$1,650.00	-26.7%
2	AJP ELECT	TRIC, INC.		\$810.000	\$2,430.00	+8.0%
7340101	EACH	CONTROL CABINET (YUMA ECONO	DLITE ATCC)			
Bid Rank	Department	t Estimate	2.000	\$70,000.000	\$140,000.00	
1	DPE CONS	STRUCTION, INC.		\$52,000.000	\$104,000.00	-25.7%
2	AJP ELECT			\$51,900.000	\$103,800.00	-25.9%
7340120	EACH	METER PEDESTAL CABINET				
Bid Rank	Department	t Estimate	2.000	\$18,000.000	\$36,000.00	
1	DPE CONS	TRUCTION, INC.		\$5,400.000	\$10,800.00	-70.0%
2	AJP ELECT			\$5,500.000	\$11,000.00	-69.4%
7340300	EACH	CONTROL CABINET FOUNDATION				
Bid Rank	Department	t Estimate	2.000	\$5,000.000	\$10,000.00	
1	DPE CONS	TRUCTION, INC.		\$3,800.000	\$7,600.00	-24.0%
2	AJP ELECT	TRIC, INC.		\$2,000.000	\$4,000.00	-60.0%
7340306	EACH	METER PEDESTAL FOUNDATION				
Bid Rank	Department	t Estimate	2.000	\$1,800.000	\$3,600.00	
1	DPE CONS	STRUCTION, INC.		\$2,550.000	\$5,100.00	+41.7%
2	AJP ELECT			\$1,200.000	\$2,400.00	-33.3%
7360104	EACH	LUMINAIRE (HORIZONTAL MOUNT)	(LED)			
Bid Rank	Department	t Estimate	4.000	\$1,200.000	\$4,800.00	
1	DPE CONS	STRUCTION, INC.		\$1,300.000	\$5,200.00	+8.3%
2	AJP ELECT			\$1,340.000	\$5,360.00	+11.7%

Printed: 9/23/2025 Page 8 of 9 *** Bid Tabs for Proposal Pamphlet 2024064 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department	t Estimate	1.000	\$104,000.000	\$104,000.00	
1	DPE CONS	STRUCTION, INC.		\$40,000.000	\$40,000.00	-61.5%
2	AJP ELECT	TRIC, INC.		\$160,000.000	\$160,000.00	+53.8%
9080084	L.FT.	CONCRETE CURB AND GUT	TER (COY STD DETAIL 3-06	60)		
Bid Rank	Department	t Estimate	157.000	\$110.000	\$17,270.00	
1	DPE CONS	STRUCTION, INC.		\$60.000	\$9,420.00	-45.5%
2	AJP ELECT	TRIC, INC.		\$50.000	\$7,850.00	-54.5%
9080242	SQ.FT.	CONCRETE SIDEWALK (CO	Y STD DETAIL 3-135)			
Bid Rank	Department	t Estimate	213.000	\$40.000	\$8,520.00	
1	DPE CONS	STRUCTION, INC.		\$22.000	\$4,686.00	-45.0%
2	AJP ELECT	TRIC, INC.		\$15.000	\$3,195.00	-62.5%
9080247	EACH	CONCRETE (CURB TERMINA	AL SECTION) (COY STD DE	TAIL 3-075)		
Bid Rank	Department	t Estimate	1.000	\$400.000	\$400.00	
1	DPE CONS	STRUCTION, INC.		\$1,500.000	\$1,500.00	+275.0%
2	AJP ELECT	TRIC, INC.		\$500.000	\$500.00	+25.0%
9080286	EACH	CONCRETE SIDEWALK RAM	IP (COY STD DETAIL 3-145)			
Bid Rank	Department	t Estimate	1.000	\$6,800.000	\$6,800.00	
1	DPE CONS	STRUCTION, INC.		\$4,800.000	\$4,800.00	-29.4%
2	AJP ELECT	TRIC, INC.		\$4,000.000	\$4,000.00	-41.2%
9080287	EACH	CONCRETE SIDEWALK RAM	IP (STRAIGHT SECTION) (C	OY STD DETAIL 3-15	0)	
Bid Rank	Department	t Estimate	1.000	\$6,000.000	\$6,000.00	
1	DPE CONS	STRUCTION, INC.		\$3,900.000	\$3,900.00	-35.0%
2	AJP ELECT	TRIC, INC.		\$3,000.000	\$3,000.00	-50.0%
9080304	SQ.FT.	CONCRETE DRIVEWAY (CO	Y STD DETAIL 3-105)			
Bid Rank	Department	t Estimate	833.000	\$30.000	\$24,990.00	
1	DPE CONS	STRUCTION, INC.		\$18.000	\$14,994.00	-40.0%
2	AJP ELECT	TRIC, INC.		\$20.000	\$16,660.00	-33.3%
9240016	L.SUM	FORCE ACCOUNT WORK (C	UALIFIED BIOLOGIST)			
Bid Rank	Department	t Estimate	1.000	\$10,000.000	\$10,000.00	
1	DPE CONS	STRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%
2	AJP ELECT	TRIC, INC.		\$10,000.000	\$10,000.00	+0.0%
9240017	L.SUM	FORCE ACCOUNT WORK (P	ROVIDE ELECTRICAL SER\	/ICE)		
Bid Rank	Department	t Estimate	1.000	\$8,000.000	\$8,000.00	
1	DPE CONS	STRUCTION, INC.		\$8,000.000	\$8,000.00	+0.0%
2	AJP ELECT			\$8,000.000	\$8,000.00	+0.0%

Printed: 9/23/2025 Page 9 of 9 *** Bid Tabs for Proposal Pamphlet 2024064 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240060	L.SUM	MISCELLANEOUS WORK (AS-BUILT	ELECTRICAL DRAW	/INGS)		
Bid Rank	Departmen	t Estimate	1.000	\$14,000.000	\$14,000.00	
1	DPE CONS	STRUCTION, INC.		\$3,000.000	\$3,000.00	-78.6%
2	AJP ELECT	TRIC, INC.		\$16,000.000	\$16,000.00	+14.3%
9240119	EACH	MISCELLANEOUS WORK (IISNS)				
Bid Rank	Departmen	t Estimate	4.000	\$7,500.000	\$30,000.00	
1	DPE CONS	STRUCTION, INC.		\$5,250.000	\$21,000.00	-30.0%
2	AJP ELECT	TRIC, INC.		\$8,600.000	\$34,400.00	+14.7%
9250001	L.SUM	CONSTRUCTION SURVEYING AND	LAYOUT			
Bid Rank	Departmen	t Estimate	1.000	\$10,000.000	\$10,000.00	
1	DPE CONS	STRUCTION, INC.		\$13,041.500	\$13,041.50	+30.4%
2	AJP ELECT	TRIC, INC.		\$18,000.000	\$18,000.00	+80.0%